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El radio de la base mide 5 cm.

@h=‘4'172—82 =15

La altura mide 15 cm.

®g= V24? + 102 =26 23 dm® = 2300 em?
La generatriz mide 26 cm. 370 cm? = 3,7 dm?®

5000 dam® = 50 hm?
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Pagina 131 0,05 cm? = 0,0005 dm?
0,000008 hm? = 0,08 m?
©Q--V26-10° -26cm 0,00236 km? = 23,6 dam?

245,72 dm? = 2457200 mm?
© . -V2-122 -16em
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°R=V8“’+152=17cm 9

@o1-9cm ba=350m ©4a=1200cm?
d) A =243 em* ) 4 = 240 cm?

UNIDAD 11
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€@ v 1 hm? = 100000000 cm? @0 h- V20~ 16 - 12 om; 4 - 360 e’
c) 1 em? = 100 mm? 2 h=V132_-5% =12 em; A = 204 cm?®
d) 1 dm® = 10000 mm?
_ h)——‘\/17~ 8% =15cm — d = 30 cm; A = 240 cm?
e) 4 dam? = 40000 dm?

2) 90 m* = 900000 cm? i) 30dm A=30"+40-30+80- 20 =

: =5 2
i) 370 hm? = 37000 dam? 4600 dm

80 d
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o kmZ | hm? [dam?| m?2 | dm? | em? | mm?2
2] 3 80 dm
3(71]10 o
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510|010
olols| @aa=-9%0cm® b)a=455dm’
01]0/0(0|0f0]|8 ¢) El otro cateto mide a = \/’3'92 —-152 =3m
olofof2|3]|6 A = 270 m"
24l 572 T
da=V172—-8> =15cm




